
SAP ABAP table BP030 {BP: Business partner - address}

BP030

MANDT [CLNT (3)]

PARTNR [CHAR (10)]

ADR_REF_K [CHAR (10)]

ADR_DAT [DATS (8)]

ADRNR [CHAR (10)]

ADDRNUMBER [CHAR (10)]

ADRC

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]

 BP030-ADDRNUMBER = ADRC-ADDRNUMBER 0..N

0..N

BP000

MANDT [CLNT (3)]

PARTNR [CHAR (10)]
 BP030-PARTNR = BP000-PARTNR 0..N

1
SANS1

MANDT [CLNT (3)]

ADRNR [CHAR (10)]

 BP030-ADRNR = SANS1-ADRNR 
0..N1

T000

MANDT [CLNT (3)]

 BP030-MANDT = T000-MANDT 

0..N

1

TP14

MANDT [CLNT (3)]

ADR_REF [CHAR (10)]

 BP030-ADR_REF_K = TP14-ADR_REF 

0..N

1


